EX ST & iR SHER (IR
&b {E3/{3-2 45% 225% 361.00 m’ ( 109.20 £F)
o E BRI — /N = 45% 225% 300.17 m? ( 90.80 £ )
e e 45% 400% 60.83 m ( 18.40 )
112458 29H TGO m’ ( 0.00 £¥)
A b R &it 45.0% 254.49% 361.00 m’ ( 109.20 %)
B R = = 918.70 m’ ( 27791 #)
B = m’ ( 0.00 £F)
HoAth i F = m’ ( 0.00 £¥)
& 918.70 m’ ( 27791 )
“EBRIEE () 1,440.19 * 5.0% = 7201 m? ( 2178 £¥)
LB A (b) =| 144019 * 10.0% = 144.02 m? ( 43.57 £1)
15%%21(c) =| 118972 * 15% = 17846 m? ( 53.98 £1)
f& 15 ) = 91870 * 25% = 229.68 m? ( 69.48 £F)
F AN (o) = 918.70 * 2% = 18.37 m? ( 5.56 £F)
SR (2) 918.70 * 2.5% 2297 m? ( 6.95 £¥)
S AR = 30.39 m? ( 9.19 #F)
GARETEFEE) = 918.70 + 551.87 (Ca~Cj-Cb) =| 147058 m?( 444 85 1)
E 28 JE(F) = 162.45 /8% 3 F = 60.93 m? ( 18.43 £1)
R =EREG) = 216.60 * 245 F = 530.67 m? ( 160.53 #¥)
ETHE AT =| (+E+F+G ¥ 42.0% +H) = 1,898.41 m’ ( 574.27 )
REZY 1,898.41 1.03 =| 195536 m’( 591.50 ##)
LT ST 1,955.36  m” ( 591.50 F)
LR BT TR (G+E+F) =| 206218 m’( 623.81 £¥)
BB =| 147058 - 000 / 120 = 12 3
EEERE = 4 H
M T=EEERE=  (9.95%/F) aul = 16 &
TETEREE 1471 - 000 / 100 = 15 #
= aEt = 15 &
HESE max = 361.00 * 45.0% = 162.45 m” ( 49.14 )
BEFEEfmax = 361.00 * 60.0% = 216.60 m’ ( 65.52 #t)
AN = 591.50 = #r FOF + 3058 = 2191 /P
HEEE = 16 =+ 26 & = 0.63 =P
PHIEEE = 1,955.36  + 1,190 m? = 1.64
TP =| 195536 = 361.00 m? = 5.42
Ne&EE = 60593 = 1,898.41 =|  33.52%
EE TR 220620 *  11,080.00 7T = 4444649 TE(HKEEERAE
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